261-30 i
Motk 240, Leckere 30, 11121
6 Lxem L, Avy 6770
Teday , 16T (F33l), Mod: f14.3

Recp. € e cove pummdaied by Th) = (k#1300 acth

Al ds = 1P| = () ) &
acc “‘ﬁ
wit el prawnids izl
i i
¢ = -[(Y);\) /“,{V)”—)’(S 58 \/'[/m)/'?“))'?"/{”‘(t
4 a

'\ A?H) v\,e+ A‘f‘—v‘!

on Ft\fmd’f‘id'""
5

fflx) )dx = Jnm,,m) XH) 4

¢ 9 * E\ Ad d’J.fmA -

L/ pﬂﬁrv\ d’n.(q}rn/\

8
j(/by?dg i !f/xm,,u))z'mdi

(4

1 g w. A/pmﬂ ;0N Lowﬂb-ﬂlv
J" Ax«l-l‘bp(? Aok win ?;’)?;, Y
¢ (!

el i

§ K] Lw mﬁ,,u A Vedo Fidds

T w Points::Sail
F()‘)')) vecty —[.‘JA m& é uuuuu )
Fa e ¥ hosa Qoach Close Reach

Em-mmm% WIND ﬂmm 4

P<r+w ? R) on ~ rh}l’L‘ % @ & @ ;
Hoon F B @-—Q/

va Flxow) &
-’;m, =, al ok [af eguhor. w,,/o!fm)- lovr /
4> T B 10'1Id‘{01/b\om6‘5hc+'lﬁ/

amacar” Week F 3 pecforwing
’ A 4 Fo;\d ad«ma /wd’L\



Week F 3 U'ﬂf/wé«a,
%_/7'.__)% A a IOa.\d alf:a /adi\

, Ww=F-T
T(+L/1 Lok ,w{fﬂMd L..,; i-"a»\D T/t)
b

[+
4

|
-

~L

— =& —A/é -
Afoes [F(){[H,y/f))’ %’l )| A
r
Qa

5

F (vwyw) - T1¢) A

6,4 mARK - —’,:
Frew) 710 A [r 4

X ﬂ(l,fm,,u an dicedvm of Favd an GMVL

.._\\. \\:. '-.: -.: | [ . :

= = NN AR

Ex. Flup) = Cy —dy, X797 J/
Al ¢
pth 15 tne Lrom (0,-1) + (1,2) SN
"__:_ —— = n il.l! v .//,/"’_//.
) RN P ..:'/.
T = PN VA
&M)ﬂd ¢ F t ,(f e S Y

C

Pl = (-0 o) £ ostE] F (x93 =(x-xy, X" 1)
= (4, 34-1) i
It )

F'/é) = (1,32

F: (YH), nit)) = (f -t A - (3t-1) )
= C3ttHre, —w )

= ((HUA 4D

= 2/ _ /gt -2e01) - (1)3)
F-F (-5ttree, ) - < L

= _3¢trut —6€4 3 = 343

[
f;?-alf E f-;{‘—%ﬂ £t NIRERIIRY.
¢ 0 ;}'Lj‘;‘;.,/.,

Trw with  TH) = ((s93t26°)5,1) -1S1<2 R A



Try with ) = ((5s3t-2¢2) /5, )/ -1S4€2 . u

Ex. FMy,t) = i —-xy ¢ y k
21 = (sl)ysmb ) OSERIT

!

F e = C—m#), cstd) 1)

N
-Ar

1

=\

Flrwn = (t, -, smE)

F (1) = (%,—X,77
F{i‘/é)) T k) T (6)-mlé), S tt)) '(—rﬁ(t),wﬂ),p

= font TesH) ATME)
i
J) Fdf = f'fffn () - caslld) +sbe) At
¢ —
0 { + Lsllt)

z 517

= ottt st -~ let %QQ ’“‘(“/ = 'J'w~l“rll‘rl
o

i l/\/O(l( a(,«f*w“ m &:J/o'f'f r:d’ (/lufu o[/)d’t"
wlkamn 1,:' =vL (F 3 ww,,dm,)

BE 2
Dy Flogp) = 920+ X3¢k (F =7 ()

Fle) = (Ht t) o<t s

g = 1 e, 5D
2i)) = (88 4, 1t = (L 0)

(

mnt [
fF'dr: [{r+26143fT At
c

i |

P'ff‘.,,u': '6(/ =

rie) = Castt),smtl 1)



F(rm) = (008 -+2e?  tlIme - 62204 J

S EEI z il
F' (f/{f))'r‘/%) s Zfr_r‘zf*q{ \/’T&‘ +7_€
[

f/é.d? = /u prri i R
& /

=S
0 ( :
.{

:%—~}*z




